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[ BKSE (simplex method) J G.B.Dantzig (1947)
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Coffee break simplex ?

Def. Let S be an arbitrary set in E,. The convex hull of S ,denoted by
H(S), is the collection of all convex combination of'S.
In other words, x € H(S) ifandonlyif x=3¥_, Lx;

Thoa =124 =0(Y)

x; € S(V))
Def. The convex hull of a finite number of points x,,...x,.; in E, is
called a polytope.
Def. 4 collection of vectors x,,...x, in E, is considered to be
linearly independent , if y*_ 3;x; = 0 implies that 1,=0 for all j.
Def. 4 collection of vectors x,,..,x,.; in E, is considered to be
affinely independent , if (x,-x)),..,(x,.; -x,) are linearly independent .

Def. Ifx,,...x,,,; are affinely independent, H(x,,..,x,.,) is called a
simplex with x,,..,.x; .

¢f. M.S.Bazarra, et. al. "Nonlinear Programming” Wiley(1979,1993)

Coffee break simplex ?

The regular n-dimensional simplex

¢f. J.Matousek, et. al. "Understanding and Using Linear Programming” springer(2000)
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